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ECONOMICS

Paper : ECO-RC/HG-1016

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
Tt RIS et St Seg faan
(a) What is scarcity?
wReferel % ?

(b) Mention the law of supply.
carst R ey =11

() What is cross elasticity of demand?

v Ofe w2

20A/558 { Turn Over )



(2)

(d) Define marginal utility.

e Sofaer ke fra |

(e} Can two isoquants cut each other?

WOTe IO (AR FO FRI A 2

(7 What is a production function?
Teqe Fo 2

(g) “All costs become variable in the long
run.”

( Write True or False)
‘TP e I RGN = 1
(351 & g forar )

(h) Draw the total fixed cost curve.

T R IW =AeE e |

) Mention one assumption of perfect
competition.

o 2wl «b1 wfdyRar Say = |

20A/558 ( Continued )

(3)

() “A firm under perfectly competitive

market earns supernormal profit in the
long run.”

( Write True or False)

o AfSTTeREe TWRT I ARBH q3eA
IS SRS S Sl 3¢ 1”7

(351 1 ey foran )

2. Answer the following questions :

weTe frar erpiyRs Sad fan

2x5=10

(a) Illustrate the slope of a production
possibility curve.

TR ST (I TSR BreT 701 391 |

(b) What do you mean by price rationing?

Price rationing 3feicst & @12
(¢) What is an isocost line?
AR @ R 2
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(4)

(d) Mention the conditions of equilibrium of
a firm.

aﬂwﬁmwv&mw
1

(e) What is a shut down point?
Teom 3T g 62

3. Answer any four from the following

questions : 5x4=20
were il oedied R @1 viker Tag frey
(a) What are the determinants of demand?
Explain.
¥R ez B R 2 amm

(b) Explain the concept of consumer’s
surplus.

COTe1 Tqed qRCH! aa 597 |

(c) Explain the Diamond-water paradox.

R-wE Rt aam w11

(d) Distin_guish the concepts of economies
and diseconomies of scale.

TR ool W sfieufien qRAEREE
g for |

(S)

(e) What is budget constraint? Draw a
budget line and explain its slope. 2+3=5

IREG Y 27 GOF ICEG @ T IR O]
BTE TR <41

() Explain short-run equilibrium of a firm
under perfect competition.

of oafdcafien wRfe T AR 9
2 STl T F4 |

4. Answer the following questions : 10x4=40

war faT eppTRe O i :

(a) Discuss the law of demand. When does
a demand curve shift upward or

downward? 7+3=10
oidm RRG e 91 oW @ 9eE
(ST o LA 1 Tete SifS T¢I ?

Or / 991

What is price elasticity of demand? What
are its determinants? Discuss. 3+7=10

TR W RfSwrre R W e &
% 2 SCemo= 40 1
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i (7))
(6 ) f

. Or / 931
(b) Discuss how demand curve js derived

from indifference curve and budget Explain how resources are adequately
constraint. 10 ! allocated in production under perfect

| .re 10
ﬁazw A T T T T o s competition.
o S - o AREACTS TeAHS T TUNCAIN

R Reves =1, I 411
Or / 51

Discuss the properties of indifference t
curves. 10 ol

s @ s e

(c) Critically discuss the law of variable
Proportions. 10

isocost line, 10

(d) Discuss the long-

run i
curve under perfe comp Y SupplY

ct Competition. 10 ‘

9 efecfer
- W R o @
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